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Part- 1 (01-50)

. Choose the correct option to fill in the blanks.
Paintings on every wall and expensive hand painted lamps
the room a warm glow.

A) hung, looking, gave B) is hanging, looking, are giving
C) hanging, looks, gives D) hanging, looking, are giving
. Choose the appropriate prepositional phrase for the given sentence.
The Cambodia are thick, dark and mysterious.
A) forests through B) forests of
C) forests into D) forests without

. Choose the option that best fits into the given sentence.

Customers for the calls they make for booking their tickets.
A) have not charged B) are not charging
C) have not been charging D) are not charged

. Fill in the blank with the correct option.
The old woman who was hit by the car lost

A) conscious B) consciousment
C) consciously D) consciousness

. Choose the option that has all the three words spelt correctly.

A) Deflect, Difault, Defend B) Customir, Custody, Customs
C) Difer, Deflect, Default D) Cramp, Cycle, Cuticle

. Choose the option that best fits into the given sentence.

In earlier years, attempts to communicate with chimpanzees in sign language.
A) are made B) are being made
C) were being made D) were made

. Choose the correct option to fill in the blanks.

The boy sure that no one before he crept down the hall and returned to
his bed.

A)was making / will look B) made / is looking

C) makes / looks D) made / was looking

. Choose the appropriate prepositional phrase for the given sentence.
Many people had the tragedy of the Titanic before it occurred.

A) premonitions about B) fears of
C) reports from D) believed about
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9. Choose the option that has all the three words spelt correctly.

A) Eyelid, Expert, Nieghbour B) Drench, Draught, Dismis
C) Friend, Bloat, Witness D) Denude, Dreaery, Dropped

10.Fill in the blank with the correct option.
The road accident victim was immediately rushed to the hospital, but unfortunately
was declared dead on

A)arriving B) arrival
C) arrives D) arrived

11. 351y SR &1 Fafafed & § fow o aifec &8 & e RER UeH foar a1 U /

Rabindranath Tagore conferred the Nobel Prize in Literature in which year?

A) 1913 B) 1915
C) 1917 D) 1921

12. 71108 AaqRy TR &1 fAafor 3 HRAAT YT /

The Gangaikonda Cholapuram Temple was built by

A)ITSTRTS! 9Td U9H / Raja Raja Chola | B) QWb R WM / Pulakesin |
C)TSI% A1 UYH / Rajendra Chola | D) HTTQI=TT / Mangalesha

13. Frafafea & 9 oF-w1 Risid 9 &1 Riensit & wnfa wdi 52 /

Which one of the following principles is NOT included in the teachings of Buddha?

A)d / Satya B) 31URYUE / Aparigraha
Q) Serd / Brahmacharya D) 3% / Astheya

14.14 QOIYD ST BT AFIBR0T B gl /

Nationalization of 14 commercial banks took place on

A)17 3FTRd 1992 / 17 August 1992 B) 19 SdTS 1969 / 19 July 1969
C) 12 3 1988 / 12 April 1988 D) 26 3(a¢aR 1989 / 26 October 1989

15. fFafafaa 7 @ o fafes yRa @1 sifaw araeRm u1? /

Who among the following was the last Viceroy of British India?

A)Fﬁgaﬂ:ﬂ'ﬁé/ Lord Chelmsford B) Fﬁéﬁ:{/ Lord Curzon
C) @18 3Ma / Lord Irwin D)@I8 ATSeded / Lord Mountbatten

16.90F I8 fora- Y STATY G XY I T i 99 82 /

How many chariots form a part of the Jagannath Puri Rath Yatra every year?

A)2 B)5
03 D)1
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17,9771 & 1w & e Y 3R b1 g3 7N ash ST Bl & b 1/

The downward-sloping demand curve in the Law of Demand indicates that:

A) FH DI IR, fGT HH I WG B IZP gl g /

At lower prices, the individual is willing to buy less commodity
B) S>dl HiHdl R, fd 3 I Wie &1 S¥H gl § /

At higher prices, the individual is willing to buy more commodity

C) S Pl W, Afad da! ag WileA &l 3JP il 5 /

At higher prices, the individual is willing to buy the same commodity
D)% PIFd R e 31fid I Wie & 355 gl g /

At lower prices, the individual is willing to buy more commodity

18. Fufafad # ¥ oH-91 R YR o1 e Imu & U H Wi ST S g /

Which among the following cities is also known as "Spiritual capital of India"?

A)HYRT / Mathura B)8RgR / Haridwar
Q) HeRATY / Kedarnath D)W@/Varanasi

19. Qe - ‘Oifeifeay ffte siuedfaee GR1 ot T 71/

The book - ‘Politics of Opportunism’ is written by .

A) SIHATd 99 / Amitav Gosh B) 3Rfdgq 31f&™M / Aravind Adiga
C) TISiId X / Satyajit Ray D) 3R G T Rig / R P N Singh

20. 4 & TP 93 &F W Tl HAT g1 U g Aha! Hod IS il o, FHEart gl /
Farming on a large area of land where a single cash crop is grown is known as .

A)TTgH ?ﬁf/ intensive farming B) QT ?fﬁ/ commercial farming
C)ﬁaﬁg@ﬁ/ subsistence farming D) J&RIYUI ¥ / plantation farming

21.7f¢ GF, K" | Tefdrd § d 33 UHR OP J GERIa g1/

If GF is related to “KJ” in the same way OP is related to

A)UV B) RS
QST D)QR

22 fRufalRaa sraR o & AT T 37T T1fe? /

What should come next in the following letter sequence?

ABC ACD ADE AEF
A) AFG B) AGH
C) AHI D) Al

Page 4 of 33




23. 999 UG IR & 1Y 3hH Bl URT|
?ﬂﬂq:ﬁﬂ::m:?/

Fill in the sequence with the most appropriate answer.
Carbon: Diamond:: Wood : ?

A) SXCfa T / Dustbin B) WUTR / Stapler
C) PN / Paper D) dH / Pen

24.12 quffg 3, 3ot T8 AT ¥ g H IR T 981 ¢ | W Bt 39, AfHar I Srt gl
IGD! 3G fobat ghft? / 12-year-old Sham is four times as old as his sister Shamita. How
old will Sham be when he is twice as old as Shamita?

A)165|'5f/16years B)18?J|'5f/18years
C)19T% / 19 years D)20 T¥ / 20 years

25.39 e BT T B S 3 J T B
PIdt, UTEH, YR, PEe/
Choose the word which is different from the rest.
Kiwi, Penguin, Ostrich, Kite
A)PTSC / Kite B) IR / Ostrich
C) U7 / Penguin D)1 / Kiwi

26.X[eq B 3 AR HAYT B3 o e 3 H U & b |
A. fota B. St C. gfery D. =maeher £, iRy F. St /

Arrange the words to form a meaningful sequence.
A. Judgment B. Robbery C. Police D. Judge E. Arrest F. Prison

A) ABCDEF B) BCEDAF
C) BCDEFA D) BCEDFA

27.30sg] B U AP HH T & o Tareyd He |
Tofl: A, BIeT B. T C. AT D. WRIGHT E. YT /

Arrange the words to form a meaningful sequence.
Vegetable: A. Chop B. Wash C. Select D. Serve E. Cook

A)CBAED B)ABCDE
COCABED D)CBADE

28.7f¢ diex, B & a1 &1 gl G § ot UieR oiR B & ol F1 e g2 /

If Peter is the only son of the father of Mary, what is the relation between Peter
and Mary?

A) HTS-§8 / Siblings

B) HI-JA / Mother-Son

Q) fﬁ?ﬂ—gﬁﬁ / Father-Daughter

D)@l Y a1 & / Not Related
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29,3/ % & 9¢ 3R TH ST § ForTah 1 37alt, Sfapia 3R TR g | SH1= i W1t i 9 8 ¢
IT &1 U 9T AR 8| 3 &1 ufd S8TgR 8 | FeTgR & i 9 a1 Redr gz /
Anu has two sons and one daughter namely Abi, Akil and Asha. Asha is married to Bhim.
Bhim has a son Gulshan. Anu's husband is Bahadur. How is Bahadur related to Bhim?

A)lIT"i:/ Brother B) ITdT / Brother in law
C) fUrdr / Father D) "R / Father in law

30.3¢ 3T 1 9 100 I Tt TBATE fereal §, df 3114 4 B forat IR fordie /
If you write down all the numbers from 1 to 100, then, how many times do you write 4?
A)19 B) 20
Q)18 D) 21

31.7f PIS TS GIUBR 2:20 99! @ I8 8 3R 20 fire 9l 8, o 3¢ U 91 "El g=y an

8IIT? / If a watch shows 2:20 p.m. and it is 20 mins slow, after one and a half hours what
will be the CORRECT time?

A)3:55 W@ /3 :55 p.m. B)4:00 3URT& /4 :00 p.m.

C)4:05 WM& /4 :05 p.m. D)4:10 W& /4 :10 p.m.
32.X(eq) &I S quIigend § Safeyd &3 /

Arrange the words in alphabetical order.

(1) Pair (2) Hair (3) Dare (4) Care

A) Pair, Hair, Dare, Care B) Care, Dare, Hair, Pair
C) Hair, Dare, Care, Pair D) Dare, Care, Pair, Hair

33,39 (e &1 9T HIOTE S 3 I T |
gUIST, ddR, Uy, 341/
Choose the word which is different from the rest.
Hammer, Sword, Screwdriver, Chisel

A)E’ZﬁG.T/ Hammer B) defdIR / Sword
C)UddHY / Screwdriver D)+l / Chisel
34, YRd B SMTOIE! Y TR FT 82 / What is the date of India's Independence?
A) 26 SR / 26" January B) 2 3fagel / 2™ October
C) 15 3 / 15™ August D) 14 FdsR / 14" November
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35.99 2020 P UG SHTG! (SHAX! ¥ ) & SR Tl B di-1 &1 S ATRIS |ud 1.2
framm ufa 1g 2t @R 2020 B 39! A F1 3iad WS Wud 1.5 fhdm uf A
2t af 2020 T GE BTAE! (GATS U fGHR) F IR I1A faa=t It T IUHT S /
Gupta's average monthly consumption of sugar was 1.2 kg during first half of year 2020
(January to June). His average monthly consumption of sugar was 1.5 kg per month for
entire 2020. How much sugar did he consume during second half of year 2020 (July to

Dec)?
A)10.8 Tl / 10.8 kg B)11.8 fabell / 11.8 kg
C)6 fardll / 6 kg D) 12 f&all / 12 kg

36. fafaRaa e & qu e 1 sifee | /
Find the missing number in the following series.
1,5,3,10,5,15,7, 20, 11,
A)30 B) 13
025 D) 24

37. fafaRaa @ & g e 1 sifee ) /
Find the missing number in the following series.
4,6,12, 14, 28, 30,

A)56 B) 60
Q)62 D)32

38.9f 16 SR ! YHAR B, Y 22 3R P! HIH-91 7 82 /

If 16™ of August is a Friday, then, what day is it on 22" of August?

A) TR / Monday B) T¥dIR / Thursday
Q) XFaR / Saturday D)XfdaR / Sunday

39. 31 BT BT ST gor 30 fHam § SR afE 30 T aor arer TRt B S9& a1y
T B 91T &, A 3 ol BT BT SAHd aor 152 /
The average weight of two students is 30 kgs and if third student with the weight of 30
kgs joins them, then, what is the average weight of the three students?

A)20 kg B) 30 kg
)40 kg D) 55 kg

40793 gd B1 3R 1 fprt I § 3IR fhR 98 <fém ot 3R gear 8 SR 4 [t Iean 81
fth 98 qd B 3R qod1 § 3R 3 fbeit <rerar &1 bR a8 SR @1 3R gear g ik 7
for et =T ¢ | a8 SR fig ¥ frat g w32/
Ramesh walks 1 km to the East and then he turns to the South and walks 4 km. Again,
he turns to East and walks 3 km. He then turns to the North and walks 7 km. How far

is he from the starting point?
A2 Bt /2 km B) 5 fHt / 5 km
Q)4 fbHt /4 km D)3 f&Ht /3 km
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41.7% BTd W 160 IUY 3ifhd § 3R I 136 TUU T =1 741, B Ufa=Id 1 412 /

An umbrella is marked Rs. 160 and sold for Rs. 136, what was the discount percent?

A)20% B) 25%
O 12% D) 15%

42. 313 R0 Y 3R 5 fabe Ierel 21 98 OIS 3R a1 @ 9K 3 foreh Iaan 8, R 98 o
3R g1 § 3R 5 ftf aadr g1 3@ a8 SMfie wH 9 g Rxn A g2 /
Adarsh walks 5 km toward the South. He turns left and walks for 3 km, he then turns
right and walks for 5 km. Now, in which direction is he from the starting place?
A)3TR / North B) Ud / East
C)<f&m1 / South D)Ef\&I'UT—q\_q;/ South-East

43.%Q‘TQ wﬁu‘rﬁﬁﬁwgﬁm / Find the ODD one out from the given figures.

(a) (k) () (d)

A B)
(a) (b)
Q) D)
(c) (d)
44 Frafafad & 3 fawm o1 31d i
T, 3mad, JHiaR Igde, Ay /

Find ODD one out from the following.
Square, Rectangle, Parallelogram, Triangle

A)Wﬂﬂﬂa/ Parallelogram B)an/ Square
C) 3f1Id / Rectangle D) YT / Triangle

45.9R T U8, IR dg1 i 3gd 39 20 | gdam & It 3d ST R 8? /

The average age of four sisters four years ago was 20. What is their average age today?

A) 27 B) 30
Q)24 D) 36
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46.T%:A131F 10, 20, 30, 40 HT 3 §: / The average of numbers 10, 20, 30, 40 is:

A)25 B) 10

Q15 D)30
47.89 BIIE: / Solve:

(12x4)+12+6

A)72 B) 50

)60 D)36

48U 9 I Ut SRRl B1e) R & w361 21 87, & arel ok oIk fg & ot
3R 31 Ry Pl & arll ¢iR 51 s, it 3R Rg & i & g1 Bic! & o 3 o & dIF
87/ Five girls are sitting on a bench to be photographed. Shruti is left of Kruti and to
the right of Bindu. Ritu is to the right of Kruti. Anita is between Kruti and Ritu. Who is in
the middle of photograph?

A)fag / Bindu B) 4fdl / Shruti
)R/ Ritu D)$Id / Kruti

49,98 TAT T ST YT P T BT IR0 T &l /
Choose the number which will match the pattern of the series.
8,48, 16,96, 32,?

A) 192 B) 150
C) 64 D) 288

50.3f¢ 'A' FT AAAd fAUTSH §, 'B' &1 AW 0T 8, 'C' 1 HAAS 9IS & 3R 'D' &1 Adad
geTd g d9:1200D(4C18)B30A3 = ? /
If ‘A" means division, ‘B means multiplication, ‘C’ means addition and ‘D' means
subtraction then, 1200D(4C18)B30A3 = ?

A) 188 B) 1020
) 1200 D) 980
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Part- 1l (51-150)

51. BJT & o1 f&d 819 §: / Three terminals of a BJT are:

A) GUTE®, 3R, W/ Collector, Base, Emitter
B) 3-’-[ HId, € / Drain, Source, Gate

Q) Q:ﬁt's’ %ﬁ%’, e / Anode, Cathode, Gate
D)B"J-ITIﬁE YR, 13l'cr/ Common, Base, Gate

52. fFafafed § O o991 faggd wrd & fae afdard JRen Iuau ([didis) &1 3arexur 8 82
/ Which of the following is NOT an example of personal protective equipment (PPE) for
electrical work?

A) gRET <IRHAT / Safety goggles B) 818 &< / Hard hat
C)IR & G / Rubber gloves D)E;,?fﬁ\_;‘fa'lﬁfff/ Open-toed shoes

53. U I W[ S B & Gg DI ST Sl ! faggd Sorl § yikafdd exarg: /

A generating station which converts the heat energy of coal combustion into electrical
energy is:

A) wmﬁ:ng RICSRILE Hydro-electric power plant
B) T4 faggd T / Thermal power plant

C) AfYPI Rfdd T / Nuclear power plant

D) SaRIY fagygd ¥44 / Tidal power plant

54.fdhe IHR B, Te U PHisd &1 e F1|]? /

In a circuit breaker, what is the purpose of a shunt trip coil?

A)WW@WMW@@W/TO trip the circuit breaker manually

B) Tfdhe S & {gcﬁ T HRAT/ To delay the opening of the circuit breaker

@) shawﬁéa@rgv&nmm / To provide protection against overvoltage

D) fdhe s &l 4 CRIEREIEE) iﬁ?}qm / To remotely trip the circuit breaker

55. faggd Afdhe T MSS Wiee Alhe IexPR GNUHHIAE) BT I FT18? /
What is the purpose of a Ground Fault Circuit Interrupter (GFCI) in electrical circuits?
A) forsteft &1 @ua EIE'Ief & AW / To increase power consumption
B) fooTe & W AT ﬁ'ﬂl / To protect against electrical shock
C) dieesl ! fafaffd e & faw / To regulate voltage
D)fagga TR B B HRA &b [T / To reduce electrical noise
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56. fagyd I@ATT FRd THY, IUGE dlecol-3¢S o 3R IUHUN BT SUTNT BT F1

HBEU;UT%? / When performing electrical maintenance, why is it important to use the
appropriate voltage-rated tools and equipment?

A) sﬂ@ P doit I %ﬁ?ﬂ % / It makes the work faster

B)H_G’Wa?l:lfﬁ TGS / It is a legal requirement
C) I8 foreiell & S I IUHRUI &ffd & SNRaH 1 HH Bl § /

It reduces the risk of electrical shock or equipment damage
D) g ik ANTd UHTIT 8 / It is more cost-effective

57.1ifee yumeh & IR T did & dR &1 HHR, Fafafed & § fead fearsarg? /
In metric system, the size of super enamelled copper wire is given by which of the
following?

A)qum'ﬂﬂff/ Diameter in mm

B) Tl W&AT H / Gauge in numbers

(@) AR IROT (ams—sa%ﬂ) %:RCT ff/ Wire inductance in henry
D)FﬂTaTUT (amgga%ﬂ) / Wire inductance

58. 1EfET P o ford YR & aR &1 IuTNT fhar ST 82 /

Which type of wire is used for winding?

A) Uit aid d1aR / pvC copper wire

B) n&ﬁé’@;aﬁ?ﬂaﬂ/ Multi strand copper wire

O) R PR did T AR / Single core copper wire

D)gWR A e &1 dR / Super enamelled copper wire

59.’{&13@?[ HreX ?ﬁ%ﬂ:ﬂﬂ@[ ‘-ﬁ\_rFFITGﬂ?IT%: / Universal motor is also known as:

A) T U sTT HieR / AC repulsion motor

B) Tt RiTTel e FEwRRmId Hiex / AC single phase differential motor
C) T RivTa tet Rfe Hiex / AC single phase shunt motor

D) Tt RiTTat Tt WISl Alex / AC single phase series motor

60.T8 Ui oy UTaR Saae oy Ul BT g2 /

This symbol is of which power electronics device?

O MTY
a'/r_ / A o
AV
|/
L MTZ
A) SIET / DIAC B) FIMR3MST / TRIAC
O/ BIT D) HIg®E / MOSFET
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61. IR ETARE B R Tee & w0 § fFafafad & ¥ fege Iuan fear S g? /

Which one of the following is used as a safety accessory in wiring installation?

A)WS / Fuse B) T / Lamp
C) 8IS / Holder D) & / switch

GZ.WW &I DI A R: / The speed of the rotating magnetic field is:
A)ﬂ?’il?ﬂm Tfa/ Synchronous speed B) fety Tifr / Slip speed
€)X I / Rotor speed D)CS TIfdl / Rated speed

63. U191 fUr T 57 / What is Pole Pitch?

A) 3R Tdle Pt TE/UId B! T-AT / Number of armature slots / Number of poles

B) TIdll &1 T/ e} H Wi B! TBAT / Number of poles / Number of slots in the stator
Q) g T /argfe™ o / Pitch factor / Winding pitch

D)mﬁﬂ/ﬁﬂm/ Winding pitch / Pitch factor

64. 78 Gidhe 1 i %? / What does this circuit represent?

L4

| ]
I —

A) SH3NTA TR BT UTaR Ifdhe / Power Circuit of DOL starter
B) 3ffel gi(—lbblﬁe TER 1 TR Afhe / Power Circuit of Auto Transformer starter

C) St3MTd WICR &1 =01 Ffdbe / Control Circuit of DOL starter
D) 3fict m W} B 870 Ffdhe / Control Circuit of Auto Transformer starter

65. HIYAH Tz &1 IUANT fhy faggd W= § forar smar 82 /

Kaplan turbine is used in which power plant?

A) dT9 7 YHd / Thermal

B) THIfeISTcl! TT gTSgIgaliacd / Hydroelectric
@) q-[deﬂ??l 1 SRR / Geothermal
D) YT T YR / Nuclear
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66.TRTY fAgIoTe (Gfdhe SH7) Th ISR 8idT & Sl 9 H Ifdhe & SigH (@-ae) 3R disq
(3TCRT) H e Il o
(i) fogga 4R @e) & wH= fRufa
(i) faggd 4R (@) &t sramar fRfd
e & 9 oH-1 e wgt 87/
A circuit breaker is a device capable of making and breaking a circuit under:
(i) Normal conditions of load

(i) Abnormal conditions of load
Which of the following is CORRECT?

A) (i) T 8, TR (i) SR 8 / (i) Is true, but (i) Is false
B) (i) 3T 8, TR (ii) I & / (i) Is false, but (ii) Is true
Q) (i) 3R (i) ST 3”IT & / Both (i) and (ii) Are false

D) (i) 3fR (i) G I & / Both (i) and (i) Are true

67. 090 SIS TR AT & g, Jft =7 (gol) FHedeR! o Horgeht I 39 aRg e fawar ST
13T fob faudid g AT RUI b gl v dld P YAqH (H I HH) g 91T
TGl §W| / While wiring a panel board, all bare conductors shall be rigidly fixed in such a

=D Dl

manner that a minimum (at least) clearance of is to be maintained between
conductors of opposite polarity or phase.

A)0.5 ¥4t /0.5 cm B) 2.5 Ml / 2.5 cm

Q19" /1cm D)1.5 9/ 1.5 cm

68. Fafifad & @ H19-T Aer IJ=aq uRfie sarguf &iflz /

Which one of the following motors will give the highest starting torque?

A) PURIER T TERE I/ Capacitor start induction run
B) XSRS TWIE S8R ¥ / Resistance start inductance run

C) B/ifdbd UId / Shaded pole
D) gfa™id a1 ¥afdgdd / Universal

69. 31T &I AT haid HTY fSTell T4 & AT fhd TR o @ S1GeR &1 SUTNT fdaT il

87/ For central steam power plant of large capacity, which kind of tube boilers is used?

A)Td / Oil B) HTU / Steam
C) Ut / Water D)ag / Air

70.171% Udid @1 ugda HISTI / Identify the symbol.

—{>e—

A)AND 7€ / AND Gate B) OR 7Ic / OR Gate
C)NOT 7Ie / NOT Gate D)NOR 7@ / NOR Gate
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71.99C (?ﬁﬁ WB’C@"T%EITGIHT%: / Ballast (Choke) is used to:
A) 3MTYfe diees 96 8d / Step up supply voltage
B) TS P S &d / Step up supply current
C) MY diecs Bl & HRA 8 / Step down supply voltage
D) TWITS HC Bl HH HRA o / Step down supply current

72.faggdta 3m1 & o ford TR &1 Siffmme 43 Suged g7 /

Which type of fire extinguisher is suitable for electrical fires?

A) B RIS / Foam extinguisher

B) Tl IR AR S / Wet chemical extinguisher

C) BTa SIS3TaSS 3fIRTHSD / Carbon dioxide extinguisher
D) Sl RIS / Water extinguisher

73. 919 U 7T gTY IuHRU1/3NWR BT Iuan A9 & forw foean a8 /

The below hand tool is used for:

A)FIT&_&WW/ Wooden work B) YT T HTH / Metal work
e YTd bl HT1H / Sheet metal work D)WIgd / Files

74. 39 Bl S8R Hiex P THH Rigid R o1 Hat gl /

Three-phase induction motor works on the same principle as a

A)EAT%IET / transistor B) E;WW / transformer
C) TR (PURIER) / capacitor D) UGG / illumination

75.U% 4 UId, 1200 ARUITH 3fecex Fafeiad &t Saii R EMF 3Td & /

A 4 pole, 1200 rpm alternator will generate EMF at the frequency of:

A) 50 §EST / 50 Hz B) 40 ST / 40 Hz
C) 60 §CS / 60 Hz D)30 B¢l / 30 Hz
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76.T% Nid-wce a1 HiH Hed ¥ &I 919 Fa1sy fosT SuanT 01 U9 & 3iex ¥ &1
ST fhT o1 Toflell, Bicae SR SNTASHR I 0T HgTaeh SUBRY Bl AISC B &
fore far ST 81 / Name a zinc-plated or chrome metal rail that is used for mounting the
control accessories like MCB, contactor and OLR without using screws inside the control
panel.

A)" O / Race ways B) SIMTSTA Xd / DIN rail
C) efHd ®-dex / Terminal connector D) WHSH / Grommets

77. 3Tt fagya Il ST & fore f5d TR &) arafie & garg <t st 87 /

Which type of wiring is recommended only for temporary installations?
A) File IR / Cleat wiring

B) UldIt shgge dr™RAT / PVC conduit wiring

C) Ui iR 3R ST arfd / pyvc casing and capping wiring

D) fesdt E's: 9T / Concealed wiring

78. 3% WIgH AR &1 =19 Fd1sU S1l a1y faggd 431 & HIY Sl &I ifAe Sorl § uikafdd
FRAT 81 / Name the prime mover that converts Steam Energy into Mechanical Energy
in thermal power plants.

A)%T:blFﬁTI'IETrIT/ Economizer B) EVTCIFR/ Boiler
O eaisq / Turbine D)ﬁ?%/ Pen stock

79. S A A =R R & AT 3mdR R Rgfead & ¥ oH-3 et o1 Iuan faan

SITdT 82 / Which of the following materials is commonly used for the armature core in
DC machines?

A)?I'“I'_@IT/ Copper B) S¥UId / Steel
C) 3egHIATH / Aluminium D) UIdd / Brass

80. 3w dleed & forg TR H, g T 9 o YR & Igcier &1 JUTNT farat ST 872 /

In transmission for higher voltages, which of the following insulator types is used?

AU/ Pin B) Bid / Glass
C) T¥YH / Suspension D)% / Strain

81.39 BT IUBRU/SNWR bl 39 18 A SIHT SIIdl 7: / This hand tool is known as:

) =

ﬁ >
e ——

A) 1SS BT WRR / Side cutting plier B) T Al WIRR / Round nose plier
C) SRHT (FTHeIT) / Gimlet D) fereeT (fURR) / Pincer
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82.%WWWW$WWW% / This tower is used for:

41 5

A) R fche E:'IW&ITZF-[ ¢l / Single Circuit Transmission Line
B) R eb_\rf E:W'&I'QFT ¢l / Single Phase Transmission Line

C) TSR / HVDC

D) E9d Hfdhe E;Iﬂﬁ'-‘lﬁ ¢Ig / Double Circuit Transmission Line

83. 98 AT O Teh 3ATARUT TR THI B AIGER URal & 3feR Y I Bl 3grfa TeT 3t &
3R Fs AT B dd, 3, &R 3R 51 Bt a1 & fqusid & axdl g, 39 Fel ol : /
The material that will not allow the ingress of moisture to enter inside the winding layers

by forming a cover and in many cases, works against the action of oils, acids, alkalies and
heat is known as:

AT / Grease B) TSl / Paper
C)pUNY / Cotton D)EI'I'EFQT / Varnish

84.PN SR SIS H 919 P-U1SS Uifvifed ¥ &1 §1dT § 3R N-U2S DC IWls & Hifed
A A Jereiar e at Se R A g §: /

In a PN junction diode when the P-side is connected to the positive and the N-side
is connected to the negative terminal of a DC supply then the diode is in:

A) RIS a9 fufd / Forward Bias condition

B) o sy fufa / Reverse Bias condition

C) e 3% & / Cut off region
D) Tfdd &3 / Active region
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85. 31U A1Ed Wfthe R faggd &1 od Hr1 anfge? /

When should you perform electrical work on live circuits?

A) R, TP Al g 3rHdt § Y T8 Jig R /

Always, as it is safe if you are experienced

B) Had 3d 3MIIP B TR 3R IId JraUTt SR & a1 81 /

Only when absolutely necessary and after taking proper precautions
C)oa ot 3y =g / Any time when you want
DS & & SRM / During personal work

86.Ta 3feex-cx Bl AR AR W forelt Iare yonet & fod TR & UeH JaR ¥ IS il

87 / The rotor of an alternator is typically connected to which type of prime mover in a
power generation system?

A) UG Fadh! / Wind turbine B) HTJ T $ui1 / Steam engine
C)@ﬁﬁﬂ g / Diesel engine D)?-f[ Tl / All of these

87. 3 TN YR T A1 §d2y Sl TR oty # THfid Sgaes Had &1 IUaNT SRl
81/ Name the wiring type that uses insulated cables supported in porcelain cleats.
A) faee araf¥at / Cleat wiring B) UidRRft armarur & / PVC casing capping
C) UtatE ATeft arafiar / PVC conduit wiring D)aE:THTCIﬁ"T/ Batten wiring

88.U% 3T AT B YT fohdds GRT Ifoid 81T 8: / In an arc lamp light is emitted by:

A)fqv_c‘l'lﬁ'c' / Filament B) aaqq / Vacuum
@) %E’I oI+ / Halogen D)ﬁ"{ﬁﬁm (&[[%) / Electric arc

89.21 A1 1 | 3ifiiep gATAl T AEfET H U g I faggdia Yudh g1 R 3T g g/

If a winding of two or more turns contact each other electrically, it will cause:

A) Wﬂﬁﬁ'/ Open Circuit B) llﬁ?fm / Thermal Breakdown
C)QT[EFFIﬁB_C’/ Short Circuit D)%?ﬂg GRS / Cathode Breakdown

90. fafiRed & § SH-91 T MiShd gcd 31 Iamexvu 57 /
Which one of the following is an example of a passive component?
AR / Resistor B) STIIS / Diode
C) TIfSReR / Transistor D) 3{f&iteieR / Oscillator

91U TG =M Sl fororelt UaT $3 & o S TR IR o & U St b1 SRt
IRATCTE T/ A generating station that utilizes the potential energy of water at a high

level for generating electricity is:

A) STeifdgyd RIfekd §aH / Hydro-electric power plant
B) dIU ﬁ?{lﬂ T / Thermal power plant

C) URHTY] 36l T / Nuclear power plant

D) SaR1Y fdggd ¥4 / Tidal power plant
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92,7 forlt A o Fea/die/ s Bt TS U &, il I TS & gl ol & /
If in any winding the number of coil/pole/phases is one, then the winding is known as:
A) STahe dTef$ / Basket Winding
B) Yohfad dISfST / Concentric Winding

C) f&xdiegcs arsfet / Distributed Winding
D) ¥h ARIET / Skein Winding

93.fhT UPR P T =TRT IRUT Hiex | TS Fidbe did & gord b1 STANT fohar Srar g2 /

A short, circuited copper ring is used in which type of single phase induction motor?

A) U ST HIeR / Repulsion motor B) fRe R Mex / Hysteresis motor
C)qﬁaﬁa HIex / Universal motor D) Briifdbd gd e} / Shaded pole motor

94, T-B 3fceer A e R fhat arsfengid 82 /

In a three-phase alternator, how many windings are there on the stator?

A)Td / One B) &l / Two
Q)T / Three D)IR / Four

95. fIeRU1 T2 B! Ygd Te™ A & oy, [TaRo1 TRIBHER &1 Ydbed! ST R/

So as to provide neutral to the distribution line, the secondary of the distribution
transformer is connected.

A)ER / star B) STl / delta
Q) S-S / zig zag D) TRf® ¥4 4 / randomly

96. AR E o0 & f5g T o7 JUTNT faat SITdT 872 / Which gas is used in fluorescent lamps?

A) BTe STS3HFITSS / Carbon Dioxide B) TR / Oxygen
O GI'I"'TT-T/ Argon D)GﬁGhT-T/ Ozone

97.DC T=fi9 &, 7T 3M3eyc diecs I B & forg HiH-It arfE Iararit 82 /
In a DC machine, which winding is responsible for generating the main output voltage?
A) %ﬁﬂ?ﬁﬁ%ﬂ / Armature winding B) uﬂ@;aﬁ%ﬁ / Field winding
C)WET El'l%'%"'[ / Commutator winding D) TR GE'%‘T / Stator winding

98. 3fcerex gRI IdNed ATITYE diees Bt AGRT i R AR Fdt g: /

The frequency of the output voltage produced by an alternator depends on the:

A) e arﬁwi%r/ Rotor speed

B) @ETUETQf/ Stator material

C) dieeol AT/ Voltage setting

D) 3TH=R H arEfET &1 T_AT / Number of windings in the armature
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99.1H UHR 1 Flhe Sh 3Tt I SIRTIU (HaUT) & b feIT ST STl § 3R
SRR I-dlecol SIHART H JUIANT fowar ST 872 /
Which type of circuit breaker is known for its high interrupting capacity and is often
used in high-voltage applications?

A)mﬁﬁﬂ?ﬂﬁv_{aﬂ (Q'H?ﬁEﬁ) / Miniature Circuit Breaker (MCB)
B) WWW / Air Circuit Breaker

(@) WWW/ Oil Circuit Breaker
D)Wﬂﬁﬁaﬂﬁ/mermal Circuit Breaker

100.BHR =T & 70% faggd AR &t 3mufd fry fagyga Ta= gR1 &1 ol 82 /

70% of our country's power demand is supplied by which power plant?

A) STafdggd Qfdd T35 / Hydro-electric power plant
B) d1U fagdd TIF / Thermal power plant

Q) WW’?F@H/ Nuclear power plant

D) TR 1l TG / Solar power plant

101. 7 fear o forg e Salae s ST &1 ]2 /

The below symbol is of which electronic device?

TUE® B
COLLECTOR
S _
YR - 1 N\
'- BASE |
~> s/
EL:EE / EMITTER
A)n-p-n ETI%SIW/ n-p-n transistor B) p-n-p QTW/ p-n-p transistor

C) N =1d A% / N channel MOSFET D) P == AII!hE / P channel MOSFET
102. P01 el H TIABIER BT - BT 31 52 /

What is the main function of a transformer in a control panel?

A)WWW / To store energy

B) T Hobal ot aftfd #A1/ To amplify audio signals
C) ATIH Pi FAHd BT/ To regulate temperature

D) dlecsl ¥R §&aHT / To change voltage levels
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103. fowTelt @ e R FAgfoiaa & ¥ SH-91 Iuged wrfiie SUeR Hed 82 /

Which of the following is an appropriate first aid step for a minor electrical burn?

INEE R Y T T / Apply ice directly to the burn
B) STcl & RMMUR(Rd, A1-Reh SR T & /
Cover the burn with a sterile, non-stick dressing

C) Sil 4t BwhIet 5 I WIS < / Pop any blisters that form
D)ﬁﬁﬂﬁ%ﬁmﬁlﬁaﬁﬁﬁiﬁ?@/ Rub the burn vigorously to reduce pain

104. 199 Uclies &1 Uga BITTI / Identify the symbol.

L

W
(’3{/

AVRCIRS E'HCI'TITTT / Power Transformer

B) SMTSHIET / ICT
C) RITTd %S TRWBRR / Single Phase Transformer

D)?ﬁqw (EI'IS’%TD Ejﬂq?l'ﬁh/ Three Winding Transformer
105.Uh WU 3T TABIER H, mrufiye argfen o gaml ot e gt §: /

In an step up transformer, number of turns in primary winding is:
A) feddiae ar=f$ & grmal o der 4 &4 /
Less than number of turns in secondary winding
B) fgdiiaes arsfe o guTal &1 e & RIeR /
Equal to the number of turns in secondary winding
C) fadias arsfE & gumal & Te 9 3ifeie /
More than number of turns in secondary winding
D) fgciiae arsfén o gural o1 Te 4 Wd= /

Independent of the number of turns in secondary winding

106. w@a@ﬁ%ﬁw%m% / is an electromechanical switch.

AT d fd / Two way switch B) ¥ &1 / Relay switch
C)<ra Raa / Toggle switch D)ﬁ'CI'IT-ﬁ & / Piano switch

107. SRf 7=fi9 B P19-91 g 3R e & 916 gfdhe I Sedrg? /

In a DC machine, what component connects the armature winding to the external

circuit?
A)@ET / Stator B) e / Rotor
Q)T / Yoke D) feep-ufkad® a1 HRIeeR / Commutator
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108. S UaT8 (fHms Taia) Bt S| SHIS B 81/ The SI unit of luminous flux is

A)TIH / lumen B) -=dT / candela
C) IIHARM / illuminance D)ESRICT / intensity

109. &2Id U Sracl & T &I B TT GIel HRA o (o7 fog ITSHRT 1 IUAIT fohan Srar

8? / Which tool is used to tighten or loosen screws in a control panel assembly?

A)TlecHIeR / Voltmeter B) fUdNT / Pliers
C)ﬁl'?lw / Screwdriver D)IIFaIﬁET/ Multimeter

110. TRHATY] SHoll G & 3fex P-4 IRATY] Ufafehan gt 82 /

Which atomic reaction takes place inside a nuclear power plant?

A) URHATY] AT / Nuclear fusion B) feHR@d HSH / Avalanche breakdown
C) WA faGE / Nuclear fission D) YHd SHS3 / Thermal breakdown

11197 3T T Pis THT fad 3T & o SreTelt &1 STedhT o 6T § SR 311y farwiett &1
HId d¢ gl B Ahd dl U] T HAT AMgY? / What should you do if you come across

a person who is experiencing an electric shock, and you cannot turn off the power
source?

A) 30 =T BT T fad &1 Td ¥ gR o S BT AR A1 Mgy /
Attempt to move the person away from the source with your bare hands

B) fdd &1 I W R b A1 Wi & foIT dbal 1 TR-VdTe® 19 a¥g &1 STRT
A1 AMBT / Use a wooden or non-conductive object to push or pull the person
away from the source

¢) FUTT IR & =16T <1 A ok 39 &g 1 BiS &1 a1fg T /

Ignore the situation and leave the area
D) SAfekT 1 $ST R b oIt I W YTl STefT A8 /

Pour water on the person to cool them down

112. TAHAR Y¢S dieesl ¥ IS 8idT ¢ af il & ¥ foraes HRur o @fti) wf Saa
HRAT 8? / The transformer is connected to the rated voltage which produces
humming noise, is due to which of the following?

A) ®R Bt 33fd R / Improper stacking of core
B) ®R &I &Y / Vibration of core

C) 3P UR (JIGRAITET) / Overloading
D) PR BT 31f¥s B & BRI/ Core loss is more

113.T% ISRV 1t i Solf B! faggd SHoif § uRafid &rar g 39 FEaH
ST ST 81/ A device that converts Mechanical Energy to Electrical Energy is

known as
A)ﬁ cX / motor B) E\'iﬂ'qv"lﬁ'\’/ transformer
(@] ?QEEQ / reactor D)GI:QE? / generator
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114. JfeHIed SFIHANT H AR TR [5¥ THR & 3feex-ex &I SUdN 61 S g2 /
Which type of alternator is commonly used in automotive applications?
A) R sfeeer / Synchronous alternator
B) S8 3fee-eX / Induction alternator
Q) §IRT e 3fee¥ex / Brushless alternator
D) Auit-Feferd 3feeeR / Series-wound alternator

115, IR e AeR & el 8 JeT gt g2 /

In a permanent capacitor motor how, a capacitor is connected?

A) URTYS aISFET o 1Y FR H / In series with the starting winding

B) TR IS & WY HFIR H / In parallel with the starting winding
Q) mm%n%wu ot F / In series with the running winding

D) AT AR ST 3R TR argfen & ary goft & /

In series with the running winding and starting winding

116.1E oW & IR R 324! & fog IU-fdhe UaTer a1 & fog o ag YR (@9) & /
As per the IE rule the permissible load for lighting sub-circuit for domestic purposes is:
A) 500 dIc / 500 watt
C) 800 dIc / 800 watt

B) 1000 dIc / 1000 watt
D) 1500 dIc / 1500 watt

117. WP Al & T 39 Holt DT 17 Farsy foret gfed STHT &1 a1 § &ified &=
R EIA 81/ Name the energy derived from natural sources that are replenished at
a higher rate than they are consumed.

A) r<’~I'JZTF'I/ Thermal

B) @?/ Solar
C) URHIT[ / Atomic

D) / Gas
118, F91-Trt TRUT HieR & YUH &1 fo= &1 8 Ieel IR T 87 /

How to reverse the direction of rotation of a three-phase induction motor?

A) STHER TS B ST H IEaAdhR / Interchanging the armature winding

B) ThIcE dTSfetl & 30 H Sy / Interchanging the field winding

Q) RJex T o oMU H agadR / Interchanging the rotor terminals

D) efifal & 9 fohsh T 1 3T & Saaans / Interchange any of the two terminals

119. {59 UPR BT 3RT G701 H&f Ted! B Hifdes A3M3c BT =xg Ui Uem a1 g2 /

Which type of diagram provides a visual representation of the physical layout of control
panel components?

A)TAHITE / Flowchart

B) TISHIEG 3R / Schematic diagram
C) &l 3G / Block diagram

D) Il 31 / Pictorial diagram
120. WHTIG: fadRU1 @124 B: / The distribution line in general is:

A)<IH R YU / Three wire system

B) dR dRR L] / Four wire system
C)Eﬁ AR JuITett / Two wire system

D) U AR WU / Five wire system
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RIEEeImgfdFEwy_ AJST|drgl/

The fuse is always connected in with the supply.
A)THMIR / parallel B) W/ series
C)Q’i’c’/ shunt D)WW@/ mechanically

122.39 G HB B YRETEHD ITHIU HT TH Farsy Sl faggd Hiche HI ¢ Afve 3R
3RS J §TAT 81 / Name the electromechanical protective device that protects an
electrical circuit from short circuits and overload.

A) SRR / RCCB B) SUCIIST / ELCB
C) Tqdtet / MCB D) §®H &4 / Main Switch

123.QA-UHR & SHBIER F, Ul R fgdias a=fe™ & auer S g: /

In shell-type transformers, primary and secondary windings are wound in:

A)BR & TP g GS/3M H / The same section/limb of the core

B) BR & fAfHa Wg/3RT H / The different sections/limbs of the core

C) R & UEA 3R G WS/3MT H / The first and second sections/limbs of the core
D)W & Ugd 3R R WS/3MTH / The first and third sections/limbs of the core

124.f3t Hcit & gl fBIRI & g & did MHER Wl a7 HR Heder & ©U § Al 75
@ﬁwﬁﬂ?ﬂ%ﬁ / The distance measured in terms of armature slots or armature
conductors between the centre of the two sides of a coil is called:

A)thﬁfel?[/ Pole pitch B) mﬁ:{/ Coil span
C) 8% I / Back pitch D) fehd T&f / Active sides

125.DC H! # g UBR & a3 U+ GReldT 3R 3= YR 98 &HdT & forg ST ST

8? / Which type of winding is known for its simplicity and high-current carrying capacity
in DC machines?

A)%qa"s'ﬁm/ Lap winding B) 49 ATSfSTT / Wave winding
C) Yobfad arEfET / Concentric winding D) WRTcRitet argfe / Progressive winding

126. Bg3(d U Y Yanferd aifies R, o 9 U 9 offts-are fufa § fagga wifad vomeh
P U 5T B ST IAT G, Fgadi gl /
A manually operated mechanical switch, which separates a part of an electrical power
system normally at off-load condition is called

A)TISHR / timer B) YUdhahd (Plcde) / contactor
o) I &3 / limit switch D)\HI%QI@EQ / isolator
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127.3dfacdhd SR 3R TR & TTY B HRd THY T JREM Fraut &1 urer foar
ST =M8W? / Which safety precaution should be followed when working with
electrical assembly and wiring?

A) SBR =Terebdl o forg Tfiet 5ol & e Y /
Work with wet hands for better conductivity

B) ol U TH o foTT &ffduRed USRI T TN Y /
Use damaged tools for faster work

C) Hfdhe TR B1H B I Uge! GHI Y S-Tsiissl B /

Always de-energize circuits before working on them

D)W%ﬁﬂ?ﬁ?fmqﬂef / Wear loose clothing for comfort
128. 3R T U § FH-Te IR0 Hiex B €1 UHR &1 ex W1 gt gl /

and are basically two types of rotor construction in a three-phase
induction motor.

A) aa, ?Fq/ Wave, lap

B) f&aie, @A/ Split, stray

¢) f&u 1, fepea ot / Slip ring, squirrel cage
D) €dd, di¥S / Dumble, wound

129. o1 YfFewrrar & fAHior & fore fpan Srits ot Srawuedr gidt 82 /

How many diodes are required to construct a bridge rectifier?

A)4 B) 3
Q)2 D)5

130. 9fdhe B AIAM 3 & SMUR W frd UHR &1 Afdhe s Jaferd grdl 87 /

Which type of circuit breaker operates based on the temperature rise in the circuit?

A) W Hfdhe s / Magnetic circuit breaker
B) Yt Ffche s / Thermal circuit breaker

(@) 37gd Gfhe ST / Oil circuit breaker
D)aﬂqﬂﬁv_{aﬁ / Vacuum circuit breaker

131. faggd oRkudl & write &1 Mrufiie SExa e g? /

What is the primary purpose of an MCB in electrical circuits?

A) Hﬁ&ﬁﬁ@[ﬁ?&ﬂ/ Protection against earth faults

B) 3flaRdlecsl ﬁﬁ?&ﬂ/ Protection against overvoltage
(@] ﬁﬂﬁﬁﬁﬂ?&ﬂ / Protection against short circuits
D) WQ{R&H / Protection against ionization

132. TS & IR IR TN 7 S & dR & forg 7mieh T | /

According to NEC, the standard colour for earth wire in domestic application is:

A)BTAT / Black B) W / Yellow
C) B / Green D) el / Blue
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133.98 R T8l MR T I IS dH-Uel 3fee-e’ BT IUANT HRab [aggd fad BT
3T fara ST 8, f wedrdr 8: / The place where electric power is produced using
parallel connected three-phase alternators is called:

A) fSSTell 93 / Power Plant B) TERCYH / Substation
C)ﬁFR'UT/ Distribution D)tﬁ?ﬂ/ Feeder

134.7f¢ T 200-dTe HT @Y 3MR 100-dTe BT &7 Juft & Sis fear g, af o9 SreT aot It
STM? / If a 200-watt lamp and a 100-watt lamp are connected in series, which will glow
bright?
A) G THH U 9 JA-MT ST / Both glow equally
B) @I &I AR HH BN / Both glow dim
C) 100 dfc aTal ol AR &7 / 100 watt will glow bright
D) 200 dTc aTell ol AT G / 200 watt will glow bright

135, FrERRd & @ -0 o o Rudd 4ai & g % S A g8 &7/
Which one of the following is the distance between the centre of two adjacent
opposite poles?
A) TP HSdl Bl ¢S / Leads of a coil
B) U el bl fASHY U&l / Inactive side of a coil
C) uid fU / Pole pitch

D)$sd/PHsdl BT ¥Yg / Coil group
136.fagga e @t RUId & 3R, YR § sht &5 & $o WITd &HdT 8: /

According to the Ministry of Power report, the total installed capacity of the
private sector in India is:

A)50% I 3fYP / More than 50% B) 25%
C)25% ¥ &H / Less than 25% D) 100%

137. TSR &1 i =0 § U farqas forg fasan srar g2 /

SCR are mainly used for:

A) TEATHRR / Amplifier

B) &r“r@ﬂéa/ Oscillator

O feex / Filter

D) Hiex} &1 TIfd TR f8701 / Speed control of motors

138, fIaRur yurTel B tieR 1 ST fhd ide H & fore fpar S 8: /

Feeder is used in distribution system to connect:

A) fagga RawrR @ faaror gRawER aw /

Power transformer to distribution transformer
B) ﬁ?ﬂﬁ Q'N'CI'TF{IT Cal Q'H'&I'QF[ ¢Ig dh / Power transformer to transmission line
C) faavu EA'IFCFI'ﬁI'T %! UM d / Distribution transformer to consumer
D)F@@Qﬂ CARCRICARED / Substation to distributers
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139, fAgforiad o § -1 A gfoH Sige 87/

Which one of the following is a Western Union Joint?

A) B)

| Hil HIN I Hi
Hi i Hi il i ATTT}
I;I L LA 'Ijll_l' i |
- LLLL

TTYY Y - T YY)

i | | { i [ I =
‘_'J J II ] ) [ = I

UL LU

140. "gT8 Aeeol" HT AEHNS g T 8? / What is the universal sign for "High Voltage"?

A) ®

0 D)

141.9f%he s T U Hisd &1 71 S g7 /
What is the function of the trip coil in a circuit breaker?
A) diees &I faafid &A1/ To regulate the voltage
B) E@Eﬁ@fm / To protect against ground faults
C) 3R Ul & SR Ffdbe &1 @ierT /
To open the circuit during overcurrent conditions

D) iR fufeat & SR Tfdhe &1 s BT/

To close the circuit during overcurrent conditions

142, foroTcll o e ¥ IUDHRUT 1 YR&M & fod FafeRad & € fasg Iuaur o1 SudiT fasar sirar

87 / Which one of the following devices is used for the protection of equipment from
lightning strokes?

AEIET/ T B) Uit/ PT
C) I ST / Wave trap D) farsteft e / Lightning arrestor
143. 4RA H {5 YR &1 AC TR Y- ST 872 /

In India, which type of AC transmission is adopted?

A) T S IR dR YUt / Three phase four wire system

B) <9 Bt <fIH AR TUMEA! / Three phase three wire system
C) < % Ui dR YTt / Three phase five wire system

D) Thd Wl diiF IR JuTet / Single phase three wire system
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144, THd-TRUT IRUT Aex H FEfeied & § $H-3 USHR &1 gaoi &89 I giar 8?2 /
Which one of the following types of magnetic fields is generated in a single-phase
induction motor?

A) g0 / Rotating B) fRR / Static
C)Wfad / Pulsating D)ddd / Ring

145 TaSTelt T ST A & RUfG T, I8 g2 & T 3maep! fheant Iuai 1@l a1 anfge? /
In the event of an electrical fire, what should you NOT use to extinguish it?

A)tI'IT-ﬁ/ Water B) G@W/ Fire blanket
C) 3IFIRIHS / Fire extinguisher D)Yd / Sand

146. 3afdcHa AlHATIT/STSMIT (LOTO) UfthaT HT 35T T 8?7 /

What is the purpose of an Electrical Lockout/Tagout (LOTO) procedure?

A) 35Tl TREUT ¥ / To save energy
B) % YT &7 & o o Iuamwr grierargdes Tamferd g /

To ensure equipment operates efficiently

C)ﬁ?{ﬂ?{mm%ﬁm/ To increase electrical output
D) YERWTA & GRM HHD! B FaRAS Hotl Al o qaHT /

To protect workers from hazardous energy sources during maintenance

147. gfAa¥q AR § U Wics fafd &1 Iudi far siar &: /

The tapped field method in the universal motor is used to:

A) YRT B! AT B 3'71%]"2/ Control the current
B) TTfal TR =101 YA & AW / Control the speed

C)E’%Hﬁﬁﬁﬁﬁﬁﬁ%ﬁﬂ/ Control the torque
D) Rifad TR FT701 @A & 7T / Control the power

148.Td & UG § ford UPR B Thdl-TRUT URUT HIe DT IUTNT b1 S 82 /

Which type of single-phase induction motor is used in ceiling fans?

A) Rt YT Hiex / Permanent capacitor motor

B) WWWF{W / Induction start capacitor run motor
Q) Bifed e Alex / Shaded pole motor

D) U ST HIeR / Repulsion motor

149. Frofafed & § -1 IH-Ts IR HieR & fawRid gasia &9 &1 TeR 82 /
Which one of the following is the type of magnetic field developed in a three-phase
induction motor?

A) 9f0fd 919 &5 / Rotating magnetic field
B) TWfdd JaId & / Pulsating magnetic field
@) @ﬁasﬂaaﬁn & / Static magnetic field

D) &HT%_CTW ax/ Stray magnetic field
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150. FAEfoiad & @ -1 Te e Taferd SadcHdhNdbd SUHRU § Il Hie &l
TREIET SR AET I ST 82 /

Which one of the following is a thermally operated electromechanical device that
protects motors from overheating and loading?

A) yHd fiaRars el / Thermal overload relay

B) WY facie R / Time delay relay

(@) IGREW QW'CFITTT / Control transformer

D)ﬁ'iﬁl’d a9 / Limit switches
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[ Do not open this question booklet until asked to do so. ]

INSTRUCTIONS TO CANDIDATE

1. Fill up the necessary information in the space provided on the cover of Question Booklet and

the Answer Sheet before commencement of the test.
The duration of the test is 2 Hour. There are 150 questions.

3. You will not be allowed to leave the examination hall till the exam gets completed.
This booklet contains 32 Pages. Please check for completeness of the Question Booklet
immediately after opening.

5. No spare Question Booklet or Answer Sheet will be provided. Do not make mistakes.
Replacement will NOT be provided under any circumstances.

6. Each question has four answer options marked (A), (B), (C) and (D). Answers are to be marked
on the Answer Sheet, which is provided separately.

7. Choose the most appropriate answer option and darken the circle completely, corresponding
to (A), (B), (C) or (D) against the relevant question number.

8. Use only Blue/Black Ball Point Pen to darken the circle for answering.

9. Please do not darken more than one circle against any question, as scanner will read such
marking as wrong answer.

10. Once an oval is darkened as answer to the question, it is final. Answers option once darkened
cannot be changed.

11. Each question carries one mark. There is NO Negative Marking.

12. Rough work, if any, is to be done on the Question Booklet only. No separate sheet will be
provided/used for rough work.

13. Calculator, Mobile, etc., are not permitted inside the examination hall.

14. Candidates seeking, receiving and/or giving assistance during the test will be disqualified.

15. Do not seek clarification on any item in the Question Booklet from the test invigilator. Use
your best judgment.

THIS QUESTION BOOKLET AND OMR ANSWER SHEET ARE TO BE RETURNED ON COMPLETION OF THE TEST.

Please fill in the following details using ball point pen.

Roll No.

Name Signature
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(MEL)

Attendant Gr-I (Electrical) - Version C

Question Answer Question Answer Question Answer
No keys No keys No keys
1 A 51 A 101 A
2 B 52 D 102 D
3 D 53 B 103 B
4 D 54 D 104 D
5 D 55 B 105 A
6 D 56 C 106 B
7 D 57 A 107 D
8 A 58 D 108 A
9 C 59 D 109 C
10 B 60 B 110 C
11 A 61 A 111 B
12 C 62 A 112 B
13 B 63 A 113 D
14 B 64 C 114 C
15 D 65 B 115 A
16 C 66 D 116 C
17 D 67 B 117 B
18 D 68 A 118 D
19 D 69 C 119 D
20 D 70 C 120 B
21 C 71 A 121 B
22 A 72 C 122 C
23 C 73 A 123 A
24 B 74 B 124 B
25 A 75 B 125 A
26 B 76 B 126 D
27 A 77 A 127 C
28 A 78 C 128 C
29 D 79 B 129 A
30 B 80 C 130 B
31 D 81 D 131 C
32 B 82 D 132 C
33 B 83 D 133 A
34 C 84 A 134 C
35 A 85 B 135 C
36 C 86 D 136 A
37 B 87 A 137 D
38 B 88 D 138 D
39 B 89 C 139 D
40 C 90 A 140 C
41 D 91 A 141 C
42 C 92 B 142 D
43 C 93 D 143 B
44 D 94 C 144 C
45 C 95 A 145 A
46 A 96 C 146 D
47 B 97 A 147 B
48 D 98 A 148 A
49 A 99 C 149 A
50 D 100 B 150 A
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